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o What number is shown by this abacus?

=

Find the missing number.

9 x =72 +2

What time is shown on this clock?

1 mrigirk

Part of this shape is missing.

The dotted line is a line of symmetry.

Complete the shape.

Draw the line of symmetry on this shape.




B A square is drawn on an empty grid.

The coordinates of three vertices are marked.

What are the coordinates of the fourth vertex?

(5, 10)

(5, 5) (10, &)

A shop has a special offer.

)

Special offer!

Buy 3 tins of soup and get 1 free

Obi pays for 12 tins of soup.

How many tins does Obi get?

1 mdirk
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B Max makes some concrete for a path.

For a path 8 metres long Max needs:

200 kg of cement
600kg of sand
600kg of stone

What weight of stone will he need for a path 20 metres long?
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